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PART A: Grammar and Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best compl. each e. Then mark the answer on your answer sheet.

41- Many pieces of research have shown ... a close relationship between a poor diet and heart problems.
1) that there is often 2) there is often that
3) that there often is 4) there that often is
42- Which sentence is grammatically CORRECT?
1) I always will remember how beautiful was the sunset on that day.
2) I will always remember how beautiful the sunset was on that day.
3) I always will remember how the sunset was beautiful on that day.
4) I will always remember on that day how beautiful the sunset was.
43- A group of astronomers have recently ... the mass of the galaxy’s normal matter using data
gathered from many different observations.
1) improved 2) measured 3) surfed 4) increased
44- Because they have a close working ..., they depend on each other’s advice while making business
decisions.
1) addiction 2) pressure 3) manner 4) relationship
45- Ali is a hard-working student and he speaks both English and Arabic very ... .
1) honestly 2) mostly 3) loudly 4) fluently
46- Maryam decided to go to the library and ... two extra books to get a good grade in her exam.
1) prevent 2) borrow 3) respect 4) follow

PART B: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct
choice on your answer sheet.

When a child is born, he cannot speak. The only way he can communicate with others is making a
few kinds of sounds like crying. By crying, he can express his feelings and say “I’m hungry, I’m
tired, ...”. But after a few months, the baby gets aware of his surrounding world. At this time, he’s
a careful observer of everything around him, especially his parents. He begins to record what they
do, what they say and how they act. He even records his parents’ accent, tone of voice, or
gestures. Then the baby starts to imitate them, that is he tries to copy them and act just like them.
By imitating his parents, he’ll be able to say his first words which are normally very simple.

By 6 months, babies are now capable of making all the sounds in all the languages of the world,
but by the time they are a year old, they will have dropped the sounds that aren’t part of the
language they are learning. As time passes, the child’s speaking develops more and more and when
he gets older he can choose proper words, gestures and expressions to say exactly what he wants.

47-The only means of communication for a newborn baby is ... .
1) crying 2) his facial expressions
3) a lot of gestures 4) saying simple words
48- Which of the following is WRONG, according to the passage?
1) The child’s first words are very simple.
2) Parents’ gestures are also recorded by babies.
3) Babies copy their parents’ actions as soon as they are born.
4) As a child gets older, his language skills become more developed.
49-The underlined word “imitating” in paragraph 1 is closest in meaning to ... .

1) attracting 2) behaving 3) receiving 4) repeating
50- According to paragraph 2, by 6 month babies can ... .

1) choose proper words 2) say exactly what they want

3) make sounds in different languages 4) speak in all languages of the world
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